Problem Set 6: More Vision

1) If a patient cannot see the left-most part of his left visual field (but can see in all other areas), he may have a lesion 

a. In the left optic nerve 

b. In the right optic nerve 

c. In the left optic tract 

d. In the right optic tract 

e. In the optic chiasm 

2) If the parvocellular layers of LGN are bilaterally inactivated then we might expect …

Loss of high resolution vision, perception of form, and perception of color.  Perception of motion would still be maintained.

3) If you inject radioactive proline into an eye, what cells would you observe labeled in the contralateral LGN? 

a. cells in parvocellular layers of LGN (layer 3-6) 

b. cells in magnocellular layers of LGN (layers 1 and 2) 

c. cells in layers 1, 4 and 6 

d. cells in layers 2,3 and 5 

e. only koniocellular layers would be labeled 

4) If you inject radioactive proline into one eye what cells would you observe labeled in layer 4 of V1? 


Ocular dominance columns

5) In what ways are simple and complex cells in the primary visual cortex different? 


Complex cells are not spatially selective within their receptive fields


Complex cells can be direction selective (selectivity to the movement direction of stimuli)


Simple cells are primarily found in cortical layer 4

6) In what ways are simple and complex cells in the primary visual cortex similar?

both have orientation selectivity 

both have width selectivity

